ausu-l vilavual : 2a-iiadl 5110 avud 8.
(A) $H[& AU (B) ™id dusuR3AxL

(€) 5dR ausuu (D) H3s AsURAA

(E) Not Attempted

2 DAl 5 ARsd R 8 ?
(B) 31§

(A) W
(D) “ig

(DR
(E) Not Attempted

3.  Longest muscles is ;

(A) Deltoid (B) Sartorius
(C) Stapedius (D) Trapezius
(E) Not Attempted

4. Emmetropia means ;

(A) Normal vision (B) Abnormal vision

(C) Near sightness (D) Far sightness
(E) Not Attempted

5, dlgoun-wia-ouy Ao dleoum ads s 2R wH auudd 32¢ ulcue-t syl 2 8 ? |

(A) o amt (B) A5 AVt
(C) él At (D) €ls @t |
(E) Not Attempted
6. A disorder of seventh cranial nerve ;
(A) Bell’s palsy " (B) Nerve Deafness
(C) Trigeminal neuralgia (D) Myasthenia gravis
(E) Not Attempted
7. agsidl aee vavidl :
(A) SHOH (B) M0
©) ™3 (D) a9
(E) Not Attempted
8. pudi daarl Yo A4 W2 UlRUS Y3 WSl AR GIL PhD 5L Qenell»ild SODH vidold
.......... RuA A HA B ? '
(A) 2,00,000 (B) 4,00,000
(C) 3,60,000 (D) 1,80,000
(E) Not Attempted
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The of the rope is
(A) not, strength (B) knot, strong

(C) note, strong (D) naught, strongly
(E) Not Attempted

10.  When a patient has an episode of epistaxis, which of the following actions would a nurse t:
first ?
(A) Applying ice to the back of the patient’s neck
(B) Tipping the patient backward and encouraging swallowing
(C) Determining if the patient has a history of hypertension
(D) Having the patient lean forward and pinch the nose
(E) Not Attempted
11.  The recommended maximum noise level of human beings
(A) 85dB - (B) 100 dB
(C) 110 dB (D) 160 dB
(E) Not Attempted
12.  Which of the following is a major side effect of typical antipsychotic ?
(A) Tardive dyskinesia (B) Thyroid abnormality
(C) Weight gain (D) Headache
(E) Not Attempted
13, aRua duwuidl szan [RBau Yl Add GRe1r2 o dl A Anit Guazid aruad) 24 3 s29 wapad
A ?
(A) 30 [Bau (B) 15 [Bay
(C) 21 [Ban (D) 7 (e
(E) Not Attempted
14, dl-22 vildlafl5-2022 sui dlwdd ?
(A) 2144l (Tokyo) (B) 619921 (Beijing)
(C) ds+t (London) (D) Al (Rio)
(E) Not Attempted
When developing a teaching plan fqr a client who i.s 8 weeks Pregnant, which of the following foods
15. would nurse suggest to meet the client’s need for increased folic acid ?
(A) Spinach (B) Bananas
(C) Seafood (D) Yogurt
(E) Not Attempted
— 4 S )—TE;;J
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16.  wdsR vl :
sl delasell 2ud;
Rnui Wi Guad.
(A) QR HesR (B) iy A 512
(C) GBI AASIR (D) MALFURA AHE SR
(E) Not Attempted

17. ‘el warad Wl vigl Al — ausuui sul aoe nalel € 7
(A) @ (B) vigl
(C) Wl IRE
(E) Not Attempted

18.  Occupational disease caused by coal dust is ;
(A) Anthracosis (B) Silicosis
(C) Asbestosis (D) Bagossosis
(E) Not Attempted

19. Collection of pus in pleural cavity is ;
(A) Emphysema (B) Bronchitis
(C) Bronchiectasis (D) Empyema
(E) Not Attempted

20. There only students in the event yesterday.
(A) will be, much (B) was, many
(C) were, a few (D) were, 2 little
(E) Not Attempted

21, GURATL UBALA AGLALAIES S 6 ?
(A) MR gl (B) Brafawuqt
(C) [Qeudami (D) Riagur aul
(E) Not Attempted

22. Rovsing’s sign seen in ;
(A) Cholecystitis (B) Appendicitis
(C) Pancreatitis (D) Gastrititis
(E) Not Attempted

23, Y weld sikaltg divn segd 9 7
(A) 0°F (B) 32°F
(C) 4°F (D) w1l eafde e W4 A5 et Al
(E) Not Attempted

SN-E |



All of the following are misconceptions about mental illness, except :

(A) Mental illness is curable

(B) Marriages can cure mental illness

(C) Mental illness is caused by super natural power
(D) Mentally ill patients are dangerous

(E) Not Attempted

25.  Isolation of well persons for a period of time equal to the longest incubation period of a disease.
(A) Quarantine (B) Isolation
(C) Reverse isolation (D) Contamination
(E) Not Attempted
26. ‘A dl @2l wadl ual 8. — 20 asuul Rud snedl.
(A) 24 (B) dl
(C) alal (D) vl
(E) Not Attempted
27. Which of the following findings suggest metabolic alkalosis ?
(A) Ph, 7.50; pCO,, 38 mm Hg; HCO330 mEq
(B) Ph, 7.30; pCO;, 56 mm Hg; HCO;324 mEq
(C) Ph, 7.38; pCO;, 42 mm Hg; HCO;25 mEq
(D) Ph, 7.26; pCO;, 37 mm Hg; HCO;18 mEq
(E) Not Attempted
28. When assessing a 34 years old mult.igravid client at .34 weeks gestation experiencing modc_rat.c
vaginal bleeding, which of the following would most likely alert the nurse that placenta previa 1S
present ?
(A) Painless vaginal bleeding (B) Uterine tetany
(C) Intermittent pain with spotting (D) Dull lower back pain
(E) Not Attempted
b9, wuld ausudi AR gl AMA Aol = gl 20 A vl o) A !
(A) 66 (B) (23
(C) qw.uwaeﬂlﬂ (D) dAeyn
(E) Not Attempted
30. Tarry stool is evidence of 5
(A) Gastro intestinal hemorrhage (B) Hemorrhoids
(C) Anal fissure’ (D) Intestinal obstrution
(E) Not Attempted
SN -E | 6 [ Contd-




of the people in our village are farmers.

31
(A) A few, leave (B) Much, living
(C) Most, living (D) Little, lived
(E) Not Attempted
32 willyou _ in the hotel ?
(A) How much, leave (B) How many, lived
(C) How long, stayed (D). How long, stay
(E) Not Attempted
33.  Which sign is considered as welcome sign in pregnancy ?
(A) Lightening (B) Show
(C) Onset of labor pain (D) Quickening
(E) Not Attempted
34, ‘Sadad Guumu s ?
(A) Acdl sy (B) uged -iedis? ed
(C) %4dd sladl (D) H3e81udd
(E) Not Attempted
35. A psychiatric patient continues to disrupt the unit milieu by pacing up and down the hall. The
nurse responds by placing the patient in the seclusion room. As a result of her actions, the nurse
may be held responsible for which of the following legal implications ?
(A) False imprisonment (B) Battery
(C) Invasion of privacy (D) Defamation of character
(E) Not Attempted
36. gL vel AlSumi sut A vioeny & 7
CVETE] (B) ugl
(C) el (D) At
(E) Not Attempted
37. 4,19, %, % 2yl sul el vy B ?
(A) 564 2] (B) iy il
(€) e @il (D) 5\ ioy-l
(E) Not Attempted
38.  Which committec is known as the Health Survey and Planning committee ;
(A) Mudaliar committee (B) Kartar Singh committee
(C) Bhore committees (D) Shrivastav committee
(E) Not Attempted
R
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39. Itwas __ ashort bookso I reading it in a day.
(A) quit, finish (B) quite, finishing
(C) quiet, finishes (D) quite, finished
(E) Not Attempted

40. WiFidgasliye?

(A) Wireless Free Internet (B) Wireless Fidelity
(C) Wireless Free Interchange (D) ¢\ eaida e Ul 218 ua 1l

(E) Not Attempted
41. Appearance of Hind milk is ;
(A) Yellowish (B) Thinner

(C) Watery (D) Thicker
(E) Not Attempted

42. ‘li’atienf witi{ a history of schizophrenia has been admitted for suicidal ideation. The patient states
God is telling me to kill myself right now.” The nurse’s best response is :

(A) I understand that God’s voice is real to you, but I don’t hear anything. I will stay with you
(B) Don’t worry, the voices are part of your illness
(C) The voices are all in your imagination, think of something else and it will go away
(D) Don’t think of anything right now, just go and relax
(E) Not Attempted
43. Immunity transferred to the fetus from an immune mother through the placenta is :
(A) Active natural immunity (B) Active artificial immunity

(C) Passive natural immnity (D) Passive artificial immunity

(E) Not Attempted
44. Kumar here by next
(A) will, weak (B) is, wick
(C) will be, vice (D) will be, week
(E) Not Attempted

Betamethasone is administered to a woman at 34 weeks gestation who is in pre-term labor. A nurse

45. . ; ; ;
expect which of the following outcomes in the newborn if drug achieves its desired effect ?

would

(A) Enl
(B) Absence of hemolytic disorders

(©) Strengthened immune response

(D) De
(E) Not Attempted

hanced birth weight

creased severity of respiratory distress syndrome+

SN - E | 8 [ COntd'




46.  Which of the follwing is not indirect mode of transmission of diseases ?
(A) Vehicle-born- (B) Vector-borne
(C) Droplet infection (D) Unclean hands and fingers
(E) Not Attempted
47, ACEAYE W2 As wot quil : wigll ur S ol M
(A) R2YH (B) vubl
() a (D) Eldorua
(E) Not Attempted
48. A priority nursing intervention for the care of a teminally ill patient diagnosed with metastatic
cancer is,
(A) maintaining bowel function (B) alleviating and relieving pain
(C) preventing respiratory arrest (D) managing chemotherapy
(E) Not Attempted
49. Rho(D) immune globulin (RhoGAM) is prescribed for a client before she is discharged after a
spontaneous abortion. The nurse instructs the client that this drug is used to prevent which of the
following ?
(A) Development of a future Rh-positive fetus
(B) An antibody response to Rh-negative blood
(C) A future pregnancy resulting in abortion
(D) Development of Rh-positive antibodies
(E) Not Attempted
0. In triage orange color code indicate;
(A) Critically ill & need immediately care
(B) Not in immediate danger but require care”
(C) Ambulatory client
(D) Expected to die
(E) Not Attempted
SI. The prevention of the emergence or development of risk factors in countries or population groups
in which they have not yet appeared is which prevention ?
(A) Primary prevention (B) Secondary prevention
(C) Tertiary prevention (D) Primordial prevention
(E) Not Attempted
52, wllzs weud ey disud sIHA WA dls-ol sui diogu @ 7
(A) dlu-uy (B) &IR51
(C) dadllen (D) it
(E) Not Attempted
SN-E | 9 | [ P.T.O.
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53, Aman ussll AdlS Anaqiz cudly Aedz e gl ?

(A) 1.4 6wy’ (B) M Ria
(C) @. 2. I ) dl. A, A1
(E) Not Attempted
54.  Risus sardonicus is seen in ;
(A) Measles (B) Poliomyelitis
(C) Small Pox (D) Tetanus
(E) Not Attempted |

55. AR eisl: yRaly

(A) W + Old » B) uB +
(€) YR +1ld - (D) w3 + $al
(E) Not Attempted

56. 2 21lg Y[R, safla sl vud su Dcuni 2udg 9 ?
(A) 2uBle (®) il
(C) M3 (D) Vianelq
(E) Not Attempted

57.  Ram said to Sita, “I will meet you tomorrow.” - this sentence is transformed as
(A) Ram said that I will meet Sita tomorrow
(B) Ram told Sita that she would meet him tomorrow
(C) Ram told Sita that he would meet her the next day
(D) Ram told Sita ‘he would meet her the previous day’

(E) Not Attempted

58. During the first year of [i!‘e,.thc infant experienc‘es a rapid period of growth and development. At
the end of the first year, it is expected that the infant’s weight in comparison to birth weight has

(A) Doubled’ (B) Tripled
(C) Quadrupled (D) Multiplied
(E) Not Attempted
59. The CAGE screening questionnaire is best used by the nurse With the client who is abusing :
<A) Alcohol (B) Multiple drugs
(C) Hallucinogens
(E) Not Attempted
60,  dsuilodl ‘I oisla 2sg 530

(D) Opiates / depressants

(A) Alsuds (B) ®qqiuy
(C) AHsUUS - (D) seyqqiys
(E) Not Attempted

SN-E| 10
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61. Therapentic blood level of lithium is ;
(A) 11-20 mg/dL (B) 1.5-2 mEq/L
(C) 0.8-1.2 mEq/L, (D) 150-200 mg/dL
(E) Not Attempted
62. wdy uve-dl Rl 2 eudl.,
(A) tleild (B) 22Ul
() 284 (D) 2512
(E) Not Attempted
63. Our government is trying its best for women inevery  oflife.
(A) powerful, sides (B) powerfully, corner
© powerleés, run (Q) empowerment, walk
(E) Not Attempted
64. el Al R Al AcnAS A gl sid Al edl ?
(A) [@-lon oud (B) Hls-did Qs
(C) ¥ER u2e (D) %A €d
(E) Not Attempted _
65.  AAGUS UR §A saar vl 2udaL slu 6 ?
(A) 62 (B) 64
(C) 66 (D) 68
(E) Not Attempted
66. Labor is divided into how many stages ?
(A) Two (B) Three
(C) Four (D) Five
(E) Not Attempted
67.  M3AAA 2{5AHU1 Asd ... yarf ad 20213 dlsdet sami 20
(A) 3§ (B) gL A
(C) erdg (D) 5602 Ag
(E) Not Attempted
68.  @llds [Qsut-n deofui LEDY ga 51 QA4 54 D ?
(A) Light Emitting Device: (B) Light Energy Device
(C) Light Emitting Diode D) 2\ ufda Ae U5 A5 4 dl
(E) Not Attempted
SN-E|
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69.

They _ goouton

(A) never, November (B) always, March
(C) always, Sundays,
(E) Not Attempted

(D) never, evening

70.  Excessive feeling of happiness is known as
(A) Euphoria - (B) Akathisia
(C) Anhedonia (D) Palilalia
(E) Not Attempted
71. Which of the following is not a barrier method of contraception ?
(A) Condom , (B) Diaphragm
(C) Vaginal sponge (D) Intra-uterine device
(E) Not Attempted
72.  Drug of choice for respiratory depression in a new born whose mother received morphine during
labor ;
(A) Naloxone, (B) Digoxin
(C) Lidocaine (D) Adrenaline
(E) Not Attempted
73. Alltheplayers_ hands ______ at the end of the match yesterday.
(A) shake, cordial (B) shaken, cordially
(C) shook, cordially (D) will shake, cordial
(E) Not Attempted
74, [Rani su Rad “Qagae Bad” A5 HAlau ) ?
(A) 2 59231 (B) 1yl
(C) 31 (D)4 AR
(E) Not Attempted
75.  An infant is to receive 28 m_g 01.' pll.enobarbital orally per day divided into tw.(). .equal doses for
seizure control. The medication is dispensed as 20 mg per S ml. How many mililiters should the
nurse administer for each dose ?
(A) 2.8 ml, (B) 3.5 ml
(C) 5.6 ml (D) 70 ml
(E) Not Attempted
76. Which of the following disorder is a self limiting condition ?
(A) Postnatal depression (B) Postpartum blues
(C) Postpartum psychosis (D) Postpartum anxiety disorders
(E) Not Attempted
-
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77, How much salt must be added to one liter of water to make a solution of normal saline (0.9%) ?
(A) 19 gm (B) 0.9 gm
(C) 9 gmv (D) 90 gm
(E) Not Attempted
78. A 30 yrs old multi-gravid client has missed 3 periods and now visits the antenatal clinic because
she assumes she is pregnant. She is experiencing enlargement of her abdomen, a positive pregnancy
test, and changes in the pigmentation on her face and abdomen. These findings reflect this woman
is experiencing which signs of pregnancy ?
(A) Positive ' (B) Probable
(C) Presumptive« (D) Diagnostic
(E) Not Attempted
79.  It’s difficult to listen if is speaking at the __ time.
(4) everyone, same (B) all, some
(C) anybody, soon (D) nobody, some
(E) Not Attempted
80. Don’t tell what I to you.
(A) nobody, says (B) everybody, saying
{C) anybody, have said (D) all, has said
(E) Not Attempted
81. The prayer session _____ by the yoga session morning.
(A) follows, all¥ (B) is followed, every
(€) will follow, in (D) followed, at
(E) Not Attempted
82.  [Aaaw WRau oga Dl o vido{d [Aan Uil A5l e Juel LS 32¢ andR AL
29 69 ?
(A) 50,000/- (B) 70,000/-
(C) 1,00,000/- (D) 1,50,000/-
(E) Not Attempted
83.  Crackles heard on lung auscultation indicate which of the following ?
(A) Cyanosis ¢B) Broncho spasm
(C) Airway narrowing (D) Fluid filled alveoli
(E) Not Attempted
B4, w2 AL date s GuRuEHi © 7
(A) Ad3u Guliue (B) $2 Gultue
(C) saiulRue (D) ©ielou GulAue
(E) Not Attempted
T \ A
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85. Ecchymosis of periumbelical area ;
(A) Rosuva’s sign, (B) Cullen’s sign
(C) Grey Turner’s spots (D) Purpura
(E) Not Attempted
86. Reena her duties without
(A) perform, irritated (B) performs, be irritated
(C) performs, getting irritated (D) will perform, irritate
(E) Not Attempted
87. A person who habitually expresses anxiety through physical symptoms is using ...
(A) Projection (B) Regression
(C) Conversion (D) Hypochondriasis
(E) Not Attempted
88. The submentobregmatic diameter is
- (A) 9.5 cm (B) 10 cm
(C) 11.5 cm (D) 13.5cm
(E) Not Attempted
89.  4Earll usR woudl: ‘del Qiaaidl Ry sal.’
(A) Mlamuged (B) ®dsed
(C) AHLuSEA (D) AdHISEd
(E) Not Attempted
90. Using Nagele’s rule for a client whose LMP began on May 10, the nurse determines that the client’s
estimated date of child birth would be which of the following ?
(A) January, 13 (B) January, 17
(C) February, 13 () February, 17
(E) Not Attempted
91. We for next week.
(A) went, mountainecr A(B) will go, mountaineer
(C) are going, mountaineering (D) went, mountaincering
(E) Not Attempted
92. Buffalo hump is a feature of ;
(A) Gigantism (B) Cretinism
(C) Myxedema (D) Cushing’s syndrome
(E) Not Attempted
N
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gL -l 2L s 54 ?

93.
(A) A AH HSRA (B) 2l [Adsi-e
() 2l gurrie Azadl (D) AHEWA Yy
(E) Not Attempted
04, Chloasma will appear on body part of ;
(A) Breast & Nipple (B) Face
(C) Abdomen (D) Limb
(E) Not Attempted
05. 5 AiSdls (Ml A BAT =23 814 ¥ CAT = 24 814 dl d4i BALL = ? s8a1d ?
(A) 27 (B) 28
(C) 32 (D) 120
(E) Not Attempted
96. The following are the contents of ORS except ;
(A) Sodium chloride (B) Sugar
(C) Potassium chloride (D‘) Calcium carbonate
(E) Not Attempted
97.  Which of the following is an examples of specific developmental disorder of speech and language ?
(A) Dysphasia (B) Dyslexia
(C) Autism (D) Rett’s syndrome
(E) Not Attempted
98.  ESI Act was launched in the year ;
(A) 1950 (B) 1948
(C) 1946 (D) 1945
(E) Not Attempted
99. Al e vl U4 56 Aqvarxnan ud B ?
48, 50, 82, 170
(A) 48 (B) 50
(C) 82 (D) 170
(E) Not Attempted
100. Birth should be registered with in ;
(A) 45 days (B) 21 days
(C) 14 days (D) 7 days
(E) Not Attempted
SN-g) — [P.T.0.
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101.

102.

103.

104.

105.

106.

107.

SN -

HRARL 8RO Aoy s32-0l 2ug[ g Sl B ?
(A) 220 Hz

(C) 60 Hz

(B) 50 Hz

(D) 21l saida e WSl 215 v 1)
(E) Not Attempted

AU QAL 56 viaR1 el B orazen eizd & ?
(A) 452 21 ls[@r2n
(C) S -8l 2 %8\
(E) Not Attempted

(B) 2014 2[R 2 Al 2[R
(D) %Sl ¢ 522

MR ARSIR IR AW AH Wt Y3417 Yrtiritu 501 531
(A) sd 2uAde WE 3t 2l §

(C) YUER RU-iE Vet 3t Al d
(E) Not Attempted

.......... UH DU AHL 20,
(B) {2 LUHAE WY 2 2l d

(D) Ag2-i~2 RUAAE WA 2 Vlals

‘ol ARA VUL dl GU3 WML

2 aRA Bl dl Hil + WA §dRL

A A HEL dl HLrt-L 221

2 RA SURAAL dl WildA Y

— GURAsd asa UlEa o 2101 DA WA il [Aseu ool

(A) ARl Wl 8. B) neufa-d WG 8.
(C) 2unél Nl Wil 94 (D) 2 esell awsu 8.
(E) Not Attempted

BLsLS it suL enHl 2uddl 89 ?

(A) nBarRr (B) el ,

(C) Yd (D) awndl

(E) Not Attempted

e’ — sul 2ami Ggmadl sleausi 8 ?

(a) dardly (B) 2

(C) A (D) §2d3

(E) Not Attempted

Sen stedl’A s a3 s adld O 7

(A) dsaet Hédl ) (B) yiu A

(C) Hsie e (D) wdldls £

(E) Not Attempted

E] 16 [ Contd.



108. Self care theory was developed by;
(A) Dorothea Orem (B) Callista Roy
(©) Martha Rogers (D) Betty Neuman
(E) Not Attempted

109. Austim mainly involves,
(A) over activity and inattention (B) poor eating skills
(C) poor intelligence

(D) poor communication
(E) Not Attempted

10, AH dARAL AU 013 2 W A ML U Tadn aedl-1 - uar ad ad O ?

(A) — ueul (B) % Uoul

(C) — uel (D) = "ol

(E) Not Attempted A
. According to Erikson, which of the following behaviors would indicate that a two year old patient’s
growth and development is progressing successfully ?

(A) The child tries new powers of speech
(B) The child imitates the behaviour of others
(C) The child plays collaboratively with other children

(D) The child seeks validation from the primary care giver

(E) Not Attempted -

N2l S 25+l 65 2 2l ASAE D ?
(A) Saelle (B) vuzbeolld
(C) dlleiig (D) (32
(E) Not Attempted

13, We must come to a now as we are running _______ of time.
(A) tonclude, much (B) conclusion, short
(€) conclusive, long (D) conclusion, many
(E) Not Attempted

114, CSF s secreted by ;
(A) Foramen Magnum (B) Cerebral Aqueduet
(€) Choroig Plexus (D) Foramen of Luschka
(E) Not Attempted

Nk 17 [ P.T.O.
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I15. A breech with extended leg is ;
(A) Complete breech (B) Frank breech
(C) Footling breech (D) Kneeling breech
(E) Not Attempted

116. Acetone in urine is tested by ;

(A) Smith’s test (B) Hey’s test
(C) Rothera’s test» (D) Benedict’s test
(E) Not Attempted

7. security at the railway station.
(A) A, tightened (B) The, tightened
(C) The, was tightened (D) An, will tighten

(E) Not Attempted
118. The second heart sound is due to closure of ;
(A) Semi lunar valves (B) Mitral valve
(C) Tricuspid valve (D) Foramen ovale
(E) Not Attempted
119. Umbelical cord attached to the margin of placenta is ;
(A) Placenta spuria (B) Placenta succenturia
(C) Battledore placenta (D)} Circumvauate
(E) Not Attempted

120. Which of the following comments, if made by a patient who has major depression would indicate
an increased risk of suicide ?

(A) “I think I will lie down. I feel like sleeping’
(B) “I won’t be a problem much longer.”’
(C) “I think the doctor should give me more mcdicinci”
(D) “I miss my family, especially my children.”
(E) Not Attempted
121. When a Ryle’s tube is inserted, the position to be given to the patient is ;
§A) Supine position (B) Side lying position
(C) High fowler’s position (D) Trendelenburg position
(E) Not Attempted
122. The correct order for physical assessment of the abdomen is ...
(A) Inspect, auscultate, percuss and palpate (B) Inspect, palpate, auscultate and Svcuss
(C) Inspect, percuss, palpate and auscultate () Inspect, palpate, percuss.and Auscultate

(E) Not Attempted
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i. -~ L "~ el

e A4 vl 2ol s 2ud 21 dui e G4 divanil-l we il s2ami
»yl A

4g57423 3 ?
23 357{ A qaal dstad Jedl sl
2ud dl (B) 1
A0 (D) 4
©) 2
(©) Not Attempeed : el
o e 2 i duisd, -un eudl.
o4 % (B) dUeisR Aay-1214 Asll
(A) GHILSR Asll
‘ e Pl (D) AM-nRnueL [[Qung wss
(C) Dﬂt’lhl't?.ll"l
(E) Not Attempted # i
(25. A nurse would advise a patient to take a diuretic if it is ordered once daily at which time
(A) in the early morning (B) after lunch
(C) with the evening meal (D) At bedtime
(E) Not Attempted
126, uBug 1yl Suisaauell o s qul &l ?
J .
(A) 48R (B) H¥sl
(C) wewt (D) Hltst
(E) Not Attempted
127. Which of the following conditions would a nurse expect to assess in a patient who has Meniere’s
disease ?
(A) Vertigo (B) Diplopia
(C) Persbycusis (D) Nystagmus
(E) Not Attempted
128. Algophobia means.
(A) Fear of pain (B) Fear of open space
(C) Fear of hight (D) Fear of closed spacet
(E) Not Attempted
12¢
) There was a phone call me about
A) informed, robe (B) informing, the robbery
(©) i »
) nformation, robbery (D) inform, a robe
(€) Not Attempted
13() A .
: Hl ‘ ) H R - N
hcl? dltnt exhibits all of the following symptoms of anorexia nervosa. Which manifestation should
addressed firgt j . :
*) in her plan of care ?
A) Cold j .
; Solerance (B) Electrolyte imbalance
tnorrhoey . -
() N (D) Sleep disturbance
L i Attemptcd
SN . E|
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131.

132.

133,

134.

135.

136.

137.

138.

SN -

Lochia serosa is from :

(A) 14 days (B) 5-9 days

(C) 10-15 days (D) > 15 days

(E) Not Attempted

Empathy means g

(A) An ability to feel with the patient

(B) An ability to put oneself in patient’s situation

(C) An ability to imagine the feelings associated with the experience
(D) All three mentioned here

(E) Not Attempted

61Re] 5 5HL 6L david e Hid Huna-u aidla W21 20 viadl ste e ?

(A) 2d= Azdlal B) dleu wlas
(C) yYdlsid U2 (D) a3ul [Ra eudl

(E) Not Attempted

‘“fla] 1A e921ell YUY A Slddl Ay A’ —ilsanl e ual.

(A) sRell (B) #4243

(C) HELstml (D) yedl

(E) Not Attempted

The narcotic drugs and psychotropic substance act was passed in the year,
(A) 1985 (B) 1982

(C) 2000 (D) 1995

(E) Not Attempted

An infant weighing 5 kg is to receive 750 mg o-f a_ntfbiotic in 24 hr period the liquid antibiotic comes
in concentration of 125 mg /' 5 ml. If the antibiotic is to be given 3 times a day, how many milliliters
would the nurse administer in each dose ?

(A) 2 ml (B) 5ml
(C) 6.25 ml (D) 10 ml
(E) Not Attempted

25 Rl 2t d-tya-l GHR st vl G 814 8, uig via ay yde [

dil Gy :
auzotell el dl Yl GuR e dadl ¢dl ? Yaa-{l GuR sdl

(A) 12 (B) 15

(C) 18 (D) 20

(E) Not Attempted

Always _ inmind universal truth that time is precious.
(A) bare, an (B) bore, an

(C) bear, the (D) born, an

(E) Not Attempted
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g, a9 MR [ Aol Ruella 2 87
139.

(A) HSIHL aidld R~
(B) A5 g2z g W A

() ANl AB
(D) At oyt AR 215 buy 24269 2 ol sug FuRd avig Rt

(E) Not Attempted
140. Slow shuffling gait is characterlistic of ;
(A) Myasthenia gravis (B) Guillain Barre Syndrome
(C) Parkinson’s Disease (D) Tic disorder
(E) Not Attempted
141. A nurse is assigned to all of the following patients. Which patient should the nurse assess first ?
(A) The patient requesting medication for chest pain
(B) The patient who has an intravenous medication due in 30 minutes
(C) The patient who has a temperature of 101° F
(D) The patient who is scheduled to go to surgery within the hour
(E) Not Attempted
142 ‘aqer L iy 916 sul €9 ?

(A) wsdl B) G
(©) kﬂﬂg (D) Gual
(E) Not Attempted
143, Anisha Sanskrit very
(A) speaks, well (B) lives, good
(C) sings, good (D) takes, strong
| (E) Not Attempted
A false sensory perception that occurs without any external stimuli is known as,
(A) Hallucination (B) Illusion
(€) Delusion (D) Agitation

145. I,

(i Mit-u MUy Alllds [Qsudl slor e ?

((" S Qs ziens NI

P
(1 ) SL el ey (D) ALl A
%) Not A

: ttempted
46. Abge %o

ne 3
(A) m ¢ 0f Moro reflex in a child indicates ...
el Retardation (B) Brain damage or immaturity

©) 1>
(B Mpaired i (D) Lesions of the V cranial nerve
) Not Altem

SN_EI

= .

ght perception
pted
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147. When assessing a patient, the nurse notes pallor and mottling of the skin, dyspnea with periods of
apnea and a decline in blood pressure. These menifestations are indicative of ...
(A) imminent death (B) a transient ischemic attack
(C) seizure onset (D) a cerebrovascular accident
(E) Not Attempted
148. Which of the following statements, if made by patient before going for MRI scan (Magnetic
Resonance Imaging) would indicate the need for follow up by nurse?
(A) “There is a pace maker in my chest”
(B) “My jwellery will be removed before the procedure”
(C) “I have had two miscarriages in the past”
(D) “I wear contact lenses”
(E) Not Attempted
149, HEIAUE-HoS W YR YAz 2 WIFs2 viddld A su1 wdi 3 Ry sy el sai
21 ?
(A) 2usie (B) Yrd
(C) vHEIE (D) aslexl
(E) Not Attempted
150, $io1 £20uR-l Aizgls A @eart su i dau O ?
(A) gl (B) AL
(C) aus (D) Yo
(E) Not Attempted
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